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(1) 12+4x(—5)=___ (2) 32a-1)-Ga+6)=____
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(5) —WHX 20-4=6x-29 ZM L, x=____ ThD,

(6) 9x*—25y" &IOS D& b b,

(7) —HER (0+3)*-16=0 %M &, x=___ S X= Th s,

(8) yiZxITKHHBIL, x=3 DL Ey=—4ThH5DH, x=—20LEOYDIEIE -
H%,

(9) 1B 6 EFTOENHEDL2OOINWZAA, BEFEHCETA X, HABOMN 51T
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(1) yiZxD2FIZHHIL, x=—3 DL X, y=T2Thd,

DO yZEx DX THEYE,

@ x=—4DrEDyDfEERD L,

WOHRNTEZ L,

(1) AN 13U xemDIEFET, S 30 3emDMUAHEOKRELZ vem? L T5HL X, vEAx DR T
=H,

Y

(2) v=8x2T, x DTN —2=x=a DL XDy DEIN b=y=27 L72H L%, a, bDE%
D VSN
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_______________________ m/t
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b=
[
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757 LEM]EDRZETH D,
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(1) =8 (2) a=-9 (3) -22 (4) V2 (5) %

(6) (3x +5y)(3x — 5y) (7) x=1, x=-7 (8) 6 (9) % (10) 5m

(1) © 2ICHS] @ HhlEH O n? OHR Gyl © KA
(2) @k @ fivh @ 4Pl @ ik

3 (1) Oy=8? @y=128 (2)a=-1 (3) 0=sx=8 (4) —12
E (1) y=3x? (2) a=3, b=0 (3) a=-1

5] (1) y=sx2  (2)8m  (3) 8B (4) BmB  (5) t=12

6] (1)a=2 b=2 (2) y=x+4 (3) 12

z (1) B:2B# C: 5 p# (2) y=175x2, 0=x=30 (3) y=-10x+50
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